g
FRD-G)-5-

LL"’h.-".’j

l?-l:_!

12 48

(15 flarta ;
(u-‘ﬁ,v.a:)u/'/

2 e

Objective Paper
Code

S471

1 e .;;,--stfvl,s" Ay S Y Wuh!_ﬂm.;ﬂum:‘..ahtﬁdmf{dﬂjm .L,EF‘:{.JD 8 C B ARl /;Ul,r'
: wvmnﬁﬁwr{”ﬁ-w@:ﬂmynuﬂ -‘.:".,’:.yf
i 0 i C I[ B A | antinns / 1.:-1".!'_" P
| sty | 00mg | g 0.01g f"—d‘*"‘"“-‘-r""”"'df"r L]
| _ | s Which is the smallest quantity? ) -
Bmrrama et ——— b
Lol , Fﬂu’: Wi Lr - dﬂfé Y u"a | 2
| Mistence | Usplaceent | Velosity | Speed A change in position is called: -
E ol | U':F : o ! v"i L—w{'fl.-".u' ! L I
I i ..H"l.‘.‘f“"!.' i Newton L (. Pascal 1The unit of force is: —as l
% C N R O R S ROl L Al |
| ' Newton's fiest law of mation is valid only in the | |
| B mentiim J |1|.I.H:-|'| | Nm Iup.::(: Forge absence of; [ !
- i S Lo it SR OO ol L TR : Lilae B
| sk e |"'r,-"|l.f-£f l..":'( ol u"dfﬁ.ﬂ%"f JTJUfJfaﬁgﬁ,ﬁ—EUulﬂ?ﬁJWu: A :
. Muutcal o | Two equal but unlike paraliel forces having difTerent ! .
| vilibriun, | SQutbium | Couple © g1 ] Toraw | jing of action produce: _ =
|
B000ms™! B00ms ™" 8ms™! 0 ‘l"'d'" J:...,.r':_..".r.:':_;._.- LE"'H:..._.-.-TgE I
j AR B "N e I The orbital speed of' s low orbit satellite is: S |
Ifk:ﬂ i % \ it I WA L,f'{.ff,"_.-fbr:'....-ﬂr...-'.u | 7 '
o Momenoen I*uvigr Forgue Energy Raie of doing work is called: |
| e R = e N, |
l . ' ' ) I ’ [ ;F..m_ﬂ,uyuﬂkﬁnlw;'_:fn,“_ﬂ: B
; b ol 60 43  The work done will be zero when the angle between !
| N\ = N iz thc force and the distance s U
| - l {":l' | gt ' ¥ Te .;,F.:_..,..-{._.L-fk'_..;_,fr I o
i _ el N .-'I.Iumu:mn!l : f--'lf:n:ur_'.- Euppr.i' | Whig:h af the substances i is Ul lJu: ljshm.;t ..;..M'? |
| 3 L i kil e .
| | | J I uf rfk}! {':'_L!l:lulr..-._-jg,'r(-h-ﬁ_fbrﬁ Lk‘fl_!l:hn‘:_r_)}';{f|
i | i l 4 Which material has large value of temperature
| St | _Brss | Gold - Aluminum _|coefficient of linear expansion? '. |
T T i WF | ooF “-T-“"L-"-J"*‘avif’? Lf"rd" it |
o e | Waner freezes at which lemperature? AR ]
ir. 1
el | CHSE -.Pld.gmlg{r” ..faﬁpf'i-h'irft;-f-’_-dl"li.;}ip; 17 |
! Lanveelion i Radmtion [Lﬂlxdu?;xnm ' Lnﬁdul,lmn Rms are hE.EL:d using gas. hﬂﬂlcﬁ by: | i : f
13-1X118-79000 K



L

i
i

U7

45 1=y

8.4F o

FED-{;I*—EJ*—JE C Pari- 1 Jilddas )
Hiriie shorl answers to auy FIVE parts. _ﬂ;.&l_ﬁ,-ﬂ"ﬂ,rzlij;.;&f -2
ifferentinto between stomic plysics and nuclear physics ~EokdAL B S )
Frafine bhase and derivid guantities., _g_;;h’hu.:.i-;ﬂ,mhm-,-_r,ka {ii)
Wit the Farmula bo calculate the leass count of serew pauge, .ﬂu#:ﬁh’f_,'}}“ﬁjf.:»ﬁfg}: (i}
Ciffenentiate between distance and displacement. 5 JAR e (v
"hat & inean by positive acoelerstion and negitive accelermlzon? '!'.-IF_:!.-'!,;»".i;,.l:.m I|_!.'3H._-.._.'- (]
Frafine momeniuna and wedie its 51 wali _-E"f_'-'i &1 u’._ny._qﬂ’qﬂ-"-’f {wi)
Lef e nkisls belween Ireaking and skeddeng. .ﬁu@#iﬂaﬂ -..EL: [wii]
atdle Newioe(s third law of motian and give an exangly, - e LS @l A LT (i)
Wrile short answers to any FIVE paris. - nblﬂ,rﬂd:plmikmljf -
Diffsrentiste between like paraliel forces and unlike paruliel forces ,éfﬁjﬂﬁﬁﬁ;ﬂ,ﬁuﬂy}ﬂﬂﬂ_ﬂ {1}
Winad is lanc ol acton of & firee? . T..:_ :[_,.rl._.l';—_l,r:._-'L.I l',_-,.I!"‘:l._.'ru',_-fu (id)
Physics-9 FBD-G1-(P- | i {;’f {:', L
LIS R
Ej'bmp ; ars? '-.I_'_-:F-TI;PL!- & .-;-3_.-".-.-'.&'&- v
Type: Bitmap Image oy s g AT i
size: 0.98 MB _,-.£ |':Is.'_. W= tnl DAL i)
Dimension: 2480 x 3310 T ol AR (vl
pixels VE parts, -ﬂ&blérwd:rlzi b
Elihe presiure, Wnite 88 fornaulo and S1 anis. -Ei’-ar'{ S ilrbin -#_..ifﬂb}'éf {i
Seate the principde af Noatatian ..g',é-f,{.l.l"'lﬁ..;" (i)
[relimee mirmin and write is uit, ,!,":-.r;.:;gﬁ';_ﬂ.np'h{._*‘.-;i_.[ﬁ‘,} dili}
tedine Ehermomater and weie ies types, u‘:.'-.d.-;-f' L:"IJ;,.nufﬁ'.--.eﬂHl-f fiw)
Liefine labent heat of fisun, ,!E._.é_".-;i_f.;...l..?kﬂ;—:iﬂf ()
'.“Ln.-l.-’lll-"u'l‘;.:.f’-.ﬂr;"l'-ﬂ ite b AL ar )
Liuiine raje of Maw of eal. Mame asy two facbars on which M depends,
ahllerenises Beeween Ll and sea breeros -ﬂ:—- ffléﬁhﬁdfﬁﬁﬁiﬁa vl
eanl s green Fouisve ofTect? e I:-r.I.-I-"J.,,.I'"h'I.;_l:I [l
| i 09 Sl g e fainl e lme i epd gl dunm
Farl « 1L, Auempt any TWO questions, Each question carries 09 marks,
seiine mstion and descrilye (s three v pes, -ﬂnftlf'-:'u'fJJ’H-*'#-*—Eﬁ;ﬂ-&” () B
Tl sdl 20N L 2L Sigdand 22ns EE A (L)
Fow el tine is required 1o change 22NS momentum by a foree of 207
Prafine kinetic energy and derive its equation -#L;IQFJPJgIJ!L#*_éI;JJJ'h@JE (udll) L6

MR i 1 5 IN

A toree of 100N is applied perpencicularly an & spanner at & distance of 10cm from o nut. Find the

arqua pradiiced by the foree,
aplain veluma thermal expansion

i i having contact aren | ..'ll.:l'l:'lj

1 31% 11 27000608

e e LUl 1em e wdndluid 100 (e )

-5l T Lt el (L) 7
T i A1 Sem® E LA 'y rlr;ffiu’mJM 75N -:.E.rrl;.n;kf'l.b..g’r By

A sludent presses his palm by his thiumb with a force of TSN Whot would be the pressure under



i

*E ? : . jective Paper
' ,u_,,f (P Code

3/? 12 :,11)’ 2415 1=y 5474

.MLFV:prﬂ*MPﬂ#ﬁﬂlﬂ-JMMJVJ{Qf@S “JELED o C B umk:.&; A
mmﬁwumwmw #a !

r.,,_ b___ c I L A Qllﬁﬁum [ ey .-F;}
2% 9% 6% 3% ?J";fr;ﬁ}-"# I 1
S = ; The efficiency of solar cell is: LI
|
WO " ) l’n,ﬂ:.wﬁﬂhmsf Gielatla] 2
v The work done will be minimum when angle between i
| W - - BT g ___\force and displacement is: i
16,6 15.6 ’ 14.6 13.6 ——:-Mf*"_._»'—diﬁ-& 3 |
sty : s i s Mercury is times heavier than water. Jq
273F A 2TIC 27-¢ e | + |
> Einee: B ik (o — Lo = I iait]
i T3 32°F 273K 0°F wrefoh| S
e P e S oo ) Water freezes at: I
¢ &d d e -i;ﬂg-dnfxf:;{yﬁuﬂfﬁd{frbﬂf wleaz| 6 |
Firm T \cagth e Rate of Mlow of heat through conductor is inversely !
iz . 3 Sty i
- » PIOPOMIONAY s, cics-0 FBD-G2-(P- |}
L0g 20 0.20ug 2.0pg | 1).bmp
- S W - s 0.00002g 5| Type: Bitmap Image
6.4 1002 T a67x10M r? A | Size: 752 KB
_i : I_m P : <10 ] 6x10%ms For free fall] Dimension: 2460 x 2500
pixels
47k 01475 14.7kg 147k —
e 1 _ et The weight of a body is 147N, llsmassmllhe' _ |
o & N |
ke ! legm ™ 's ™! kpms | jkpms™? -a,‘-rﬁ"-'ié?m]ﬂfﬁl o 1
| e — % S 1 Mewton (N) is equal 10 - *:; Bk, P ] —
| :-*’ 25 Pai-| 18
| Coscc Cosll Sinfl Tan0 {"‘r:'[;}F Fx EU5 ! |
Complete the nquﬂmtq —"L _ (Vectors) | |
: L;’:,-.dn..i:-‘i;...t;&_fﬂru 2| 12 |
| 4apaetkm | 423x10%m | 6axio®km | 6x10™km  |The height of geo stationary satellite from the is
|___ g e ] ROTHEPERY nearly equal to: |

14-1X118-60000



() flaste .

8 . F 5145
FRO-Ga-9-18" Cruct ey

# Wiz shect answers to any FIVE parts. iﬁm&ﬂm‘ -1
e e e e —— T A R A i Ii)
LR ey bctwnesa iy anad tegivead umbs. #fﬂ_ﬁﬁﬂ:*hl% Liij
e e oy lo repoeses eeinry _gq?n-..l*!.h'li-‘f";.ﬁ:'g: T
PR parslitine and g an cxaniple -M—Pﬂ"gﬁ&'ﬁhﬁ‘f (v
=fimaane boiwaoen dialange w5l displaice it _éfﬂ;-j,.-llr.l.*_-r"ﬁ.__r;.ul.hh il
" e e i bends 1 pedhece fric than ,E.?_._.J'-.n.f;;'....-rrrul’; vl
Tietine Ruo of lamitang, Friction --_:ﬁ-uﬁ,;-.{ﬁhr;:fd?'w T
Dictae rallmg fnasiinn v g . ,.-I'._IEr.. TH |

0 e shor answers o any FIVE peris Physics-3 FBD-G2-(F - T
B emanble squiliby s E}'hmp M':"-h"ﬁa’f £
1#-.’4";#‘%.' T}I’FE: Eitmap IITIHEE I:le":..-"!-'|,:I"" (il

Bt o gl gl iramgde baigth of hase = o = it pey Size: 978 KB : U

ot o gy & G e My of eaml Also wring jis 3 + B . 3‘18’!} ﬂ@’hﬂu} {=i}
el e vl Ritorss bt Cilatgl Frdllinniog S vacem (G DIlTIE“E'u'nJ- ﬂm X : _ﬁl‘r:..-;LJ:t Liv]
PRI RRE i R Pi:{EJ"-'-t- :-‘-i-r--'.‘.-"'-" (¥l

VE U L e ooy ! T EAULEL  vi)

—.'--'EI":"""'li‘:"'«?hi"--‘u'I -i-':"il-"-ﬁ.'i'ﬂé-.'l' im 'f"f"-ﬁ'-'-l'r—-:.p"l-,"'.-';l:-:lﬂ il

" by od et Sk s rmeed w0 @ height of Sm Wharl fs its pesianiial encrgyt

ThIEu ek oy A T vz}
Arate ihart aeswers o asy FIVE P s L-ﬂhill;ﬂ..‘:dil&b'_ﬁf -4
Falr e principls of Heelilinn _ e A
£5eees o ok & St iabe of wther® [ ook i e i e BB by
P mfalle wtrain. Wess it formad, -é'uniﬂ,.mﬁ#”_e;ﬁﬂffju i}
R s it Rova i Rt Buds It By ? '-:_nf-_jf.j,ﬁﬂl'-"'!l.;ir_(:rf.jlﬁr.nuﬂ iv]
DTt v adin _.#-_..i-'_..l"-h,_fnﬁ_-.qigl i

IS s dants

Wha o iivarne & Eitmors S Shrnal cxpumsion and volume ihermal xparion

3l oo nlbinty St AR
P U e ol At Byoions of feeni i “:rl.,;_,,__.._if;lsfh"ﬂ: i)
|

--..'_-‘r:‘l 5 -':-._JJ'F_.-: _i;':{,.fbll-'ﬁ.':..:. H‘n;..r_.df ETER REEY
{ Fart- 1L Apempt any TWO questions. Each question carmies 0% marks.,
wgarﬁlnshii"-ﬂg"xﬂé-—h;;ru""; (i) _§
L= drwtion ard wiite its four advantapes and iwo disadvantages. _
--_.i,’ﬂ"*'rj'ﬂuﬂ-érﬁu'l n;_l'.-f.l""'r-.,.t..-_:-l.j & ) P T A L (o)
* Zyciint comnpletes kalf round of a elrenlar frack of radics 318m in 1.5 minutes. Find s spead and

STy,
™ Eaplen solar bowse Meating system. .é.mu-&}'_:&'ﬁ_ﬁl,x!r (¥} .5
s ZEr07 20N aed X 0d S Lk i e Al Arrag i nd (L)

& fores is aciing on & body making an anghe of }0° with horizomtal. The horizonial companest of
e S I 20N, Find the force. :
- e A Gt s AL (L) o
TheToner specific heal.  Alo derbve the eguation of spevific hear capacity,
b 255 ISR e Jedii LMt Wb WL 2 L sem ()

L e
£ cube of gless oF Som side amd mass JGg has o cavity imside i1 ¥ the density of glass s
155em™ . Find the volume of the cavity.

14-1X118-60000



